
CHEMISTRY

PHYSICAL, INORGANIC, AND ORGANIC CHEMISTRY

DPP

Questions

1. 1 mole by definition represents same number of particles as

A. Number of atoms present in exactly 8 g of  isotope.

B. Number of molecules in exactly 2 g of  gas

C. Number of atoms present in exactly 16 g of  isotope

D. Number of atoms present in exactly 12 g of  isotope

Answer:

.16
8 O

H2

.16
8 O

.12
6 C

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_liDgibyiyUGo


Watch Video Solution

2. The weight of a molecule of the compound  is about :

A. 180

B.  g

C.  g

D. 132 g

Answer:

Watch Video Solution

C6H12O6

3 × 10− 22

22 × 10− 23

3. The mass of half mole of electrons is about (Given: Mass of electron

 g)

A. 0 546 mg

= 9.1 × 10− 28

https://dl.doubtnut.com/l/_liDgibyiyUGo
https://dl.doubtnut.com/l/_tREsytWcVseg
https://dl.doubtnut.com/l/_0bK4vUk3kLCN


B. 0.273 mg

C. 1.092 mg

D. 4.55 mg

Answer:

Watch Video Solution

4. 39.4 kg of gold was recovered from a smuggler. The number of

atoms of gold recovered are :

A. 200

B. 

C. 

D. 

Answer:

1.2044 × 1025

6.022 × 1025

1.2044 × 1026

https://dl.doubtnut.com/l/_0bK4vUk3kLCN
https://dl.doubtnut.com/l/_BiJHc69aKijt


Watch Video Solution

5. The charge on 1 gram ions of  is .


(a).  coulomb


(b).  coulomb


(c).  coulomb


(d).  coulomb

A.  e coulomb

B.  e coulomb

C.  e coulomb

D.  e coulomb

Answer:

Watch Video Solution

AI 3 +

NAe
1

27

NAe
1

3

NAe
1

9

3 × NAe

NA

1

27

NA

1

3

NA

1

9

3NA

https://dl.doubtnut.com/l/_BiJHc69aKijt
https://dl.doubtnut.com/l/_omJvKAMPr274


6. Calculate the number of atoms in 0.5 mole atoms of nitrogen.

A. 24 g of Mg

B. 8 g of Oxygen gas

C. 32 g of S

D. 12 g of C

Answer:

Watch Video Solution

7. In which of the following pairs do 1 g of each have an equal number

of molecules .

A.  and CO

B.  and CO

C.  and 

N2O

N2

N2O CO2

https://dl.doubtnut.com/l/_gveCZgx9oDN2
https://dl.doubtnut.com/l/_mzfpPjVveGP6


D. Both (B) and (C )

Answer:

Watch Video Solution

8. The number of atoms in 4.25 g of  is approximately

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NH3

1 × 1023

2 × 1023

4 × 1023

6 × 1023

https://dl.doubtnut.com/l/_mzfpPjVveGP6
https://dl.doubtnut.com/l/_4BdbBcuWwYBG


9. Total number of neutrons present in 4g of heavy water  is :

(Where  represetns Avogadro's number)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(D2O)

NA

2.4NA

4NA

1.2NA

2NA

10. The atomic weight for a triatomic gas is a. The correct formula for

the number of moles of gas in its w g is:

A. 

B. 

3w

a

w

3a

https://dl.doubtnut.com/l/_dtpEoSkXDBiA
https://dl.doubtnut.com/l/_4STcGX6KOJtm


C. 

D. 

Answer:

Watch Video Solution

3wa

a

3w

11. 124 g of  will contain which of the following : 

(1) 4 atoms of Phosphorus 

(2)  atoms of Phosphorus 

(3)  molecules of Phosphorus 

(4) 1 molecule of Phosphorus

A. 1 and 4

B. 2 and 3

C. 1 and 3

D. 2 and 4

P4

4NA

NA

https://dl.doubtnut.com/l/_4STcGX6KOJtm
https://dl.doubtnut.com/l/_gG0A3NUm95uj


Answer:

Watch Video Solution

12. Among the following samples, select the sample which contains

maximum number of atoms.

A. 4 g of oxygen

B. 32 g of sulphur

C. 108 g of silver

D. 2 g atoms of nitrogen

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gG0A3NUm95uj
https://dl.doubtnut.com/l/_BxCagRYUBLYq


13. A gaseous mixture contains oxygen and nitrogen in the ratio of

 by weight therefore the ratio of their number of molecules is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1: 4

1: 2

1: 4

2: 1

4: 1

14. Sulphur exist in different allotropic forms like  and  etc. If

equal moles of these three forms are taken in separate containers,

then the ratio of number of atoms present in them respectively is 

A. 

S2, S6 S8

:

1: 3: 4

https://dl.doubtnut.com/l/_qgVMrFsyAAe4
https://dl.doubtnut.com/l/_SSJQB0bzkAQ6


B. 

C. 

D. 

Answer:

Watch Video Solution

1: 1: 1

12: 4: 3

4: 3: 1

15. The one which has least mass, is

A. 2 gram atom of Nitrogen

B.  atoms of carbon

C. 1 mole of Sulphur atoms

D. 7 g of silver

Answer:

Watch Video Solution

3 × 1023

https://dl.doubtnut.com/l/_SSJQB0bzkAQ6
https://dl.doubtnut.com/l/_1rvPc3PhO9hF


16. Which of the following contains the greatest number of atoms?

A. 1 g of butane 

B. 1 g of nitrogen 

C. 1 g of silver (Ag)

D. 1 g of water 

Answer:

Watch Video Solution

(C4H10)

(N2)

(H2O)

17. Cinnabar (HgS) is a prominent ore of mercury. How many grams of

mercury are present in 225g of pure HgS? Molar mass of Hg and S are

200.6 g  and  respectively.

A. 200g

mol− 1 32gmol− 1

https://dl.doubtnut.com/l/_1rvPc3PhO9hF
https://dl.doubtnut.com/l/_JoVVdAmicNTH
https://dl.doubtnut.com/l/_8v3TJvYBsPTO


B. 400 g

C. 160 g

D. None of these

Answer:

Watch Video Solution

18. An element is found in nature in two isotopic forms with mass

numbers (A-1) and (A+3). If the average atomic mass of the element is

found to be A, then the relative abundance of the heavier isotope in

the nature will be :

A. 

B. 

C. 

D. 

66.6 %

75 %

25 %

33.3 %

https://dl.doubtnut.com/l/_8v3TJvYBsPTO
https://dl.doubtnut.com/l/_OzFwLSFPQxx3


Answer:

Watch Video Solution

19. What is the ratio of weights of  and , the mixture of which

contains equal number of molecules of each gas?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

O2 SO2

1: 8

8: 1

1: 2

2: 1

20. 360 amu of Glucose  contains :(C6H12O6)

https://dl.doubtnut.com/l/_OzFwLSFPQxx3
https://dl.doubtnut.com/l/_Td6NHCgBJuAw
https://dl.doubtnut.com/l/_8rujNeoMzW86


A. 2 moles of glucose molecules

B. 24 hydrogen atoms

C. 12 moles of carbon atoms

D. 2 glucose molecules

Answer:

Watch Video Solution

21. If 42 g of an unknown gas X occupies a volume of 125 L at 0.3 bar

pressure and 300 K temperature then the gas X could be :

A. 

B. 

C. 

D. 

N2

CO2

CO

NO2

https://dl.doubtnut.com/l/_8rujNeoMzW86
https://dl.doubtnut.com/l/_kysySLt8f8uW


Answer:

Watch Video Solution

22. Consider a sample containing  


Mass of nitrogen present in sample if mass of oxygen present is 11.2 g

A. 1.4 g

B. 2.8 g

C. 28 g

D. 14 g

Answer:

Watch Video Solution

(NH4)2Cr2O7

https://dl.doubtnut.com/l/_kysySLt8f8uW
https://dl.doubtnut.com/l/_mWsJ1EXE9yzt


23. Calculate mass of carbon in 0.01 mole of  Report

your answer after dividing by 0.08

Watch Video Solution

K4[Fe(CN)6]

24. Find the number of -molecules of oxygen in 

molecules.

Watch Video Solution

g 6.023 × 1024CO

25. A gaseous mixture contains  and  in a 16:15 ratio

by mass. The ratio of total number of atoms present in  and 

 is:

Watch Video Solution

SO3(g) C2H6(g)

C2H6(g)

SO3(g)

https://dl.doubtnut.com/l/_7ZttniqZ34Ti
https://dl.doubtnut.com/l/_uHVJt5Qyr9t0
https://dl.doubtnut.com/l/_gCF0ar7ekh9Q


26. A gaseous mixture is composed of equal number of moles of

. Determine the average molecular mass of

mixture (in amu)

Watch Video Solution

CH4, C2H6 and C2H2

27. Which is not true with respect to cathode rays :

A. Cathode rays consist of fast moving electrons

B. For production of Cathode rays in a discharge tube the gas

filled should be at a low pressure

C. For production of Cathode rays in a discharge tube, the voltage

applied across the electrodes should be high

D. None of these

Answer:

h id l i

https://dl.doubtnut.com/l/_634DRwEyIutg
https://dl.doubtnut.com/l/_8sGz4SyFE364


Watch Video Solution

28. Select the correct statement

A. Cathode rays have charge only, no mass

B. Cathode move with same speed as that of light

C. The magnitude of e/m ratio for Cathode rays is  C/g

D. Cathode rays are deflected by electric and magnetic field

Answer:

Watch Video Solution

1.76 × 1011

29. The e/m ratio for cathode rays:

A. varies with the element forming the cathode in the discharge

tube

https://dl.doubtnut.com/l/_8sGz4SyFE364
https://dl.doubtnut.com/l/_z0UCzbPL1JuB
https://dl.doubtnut.com/l/_3sG32uLqxtqn


B. varies with the gas in the discharge tube

C. is constant

D. has the smallest value when the discharge tube is filled with

hydrogen

Answer:

Watch Video Solution

30. Select the correct statement(s)

A. Anode rays have charge as well as mass.

B. Anode rays are deflected by electric and magnetic field

C. Anode rays are also known as Positive rays or Canal rays

D. All of these

Answer:

https://dl.doubtnut.com/l/_3sG32uLqxtqn
https://dl.doubtnut.com/l/_d3lMUeV7h8lX


Watch Video Solution

31. The e/m ratio for Anode rays

A. varies with the element forming the anode in the discharge

tube

B. varies with the gas in the discharge tube

C. is constant

D. Both (A) & (B)

Answer:

Watch Video Solution

32. The highest value of e/m of anode rays has been observed when

the discharge tube is filled with:

https://dl.doubtnut.com/l/_d3lMUeV7h8lX
https://dl.doubtnut.com/l/_mgXvGZmfd43H
https://dl.doubtnut.com/l/_2y2vBOOuKVim


A. nitrogen

B. oxygen

C. hydrogen

D. helium

Answer:

Watch Video Solution

33. Which of the following shows an increasing value of ?

A. 

B. 

C. 

D. 

Answer:

e/m

n < α < p < e

e < p < α < n

n < p < e < α

n < p < α < e

https://dl.doubtnut.com/l/_2y2vBOOuKVim
https://dl.doubtnut.com/l/_nCyKhFZeb2P0


Watch Video Solution

34. The ratio of the e/m values of a proton and an -particle is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

α

2: 1

1: 1

1: 2

1: 4

35. Which has highest specific charge?

A.  (mass no. =23)

B.  (mass no. =24)

Na+

Mg+ 2

https://dl.doubtnut.com/l/_nCyKhFZeb2P0
https://dl.doubtnut.com/l/_af7eF46vnHiW
https://dl.doubtnut.com/l/_VpsKfFhQWVx6


C.  (mass no. =27)

D.  (mass no. =28)

Answer:

Watch Video Solution

Al+ 3

Si+ 4

36. Rutherford's scattering experiment, which established the nuclear

model of the atom, used a beam of

A. -particles, which impinged on a metal foil & got absorbed

B. -rays, which impinged on a metal foil & ejected electrons

C. helium atoms, which impinged on a metal foil & got scattered

D. helium nuclei, which impinged on a metal foil & got scattered

Answer:

Watch Video Solution

β

γ

https://dl.doubtnut.com/l/_VpsKfFhQWVx6
https://dl.doubtnut.com/l/_zyOtYjEc493q


37. The mass of an electron in amu is

A.  amu

B.  amu

C.  amu

D.  amu

Answer:

Watch Video Solution

5.48 × 10− 3

9.109 × 10− 28

5.48 × 10− 4

9.109 × 10− 31

38. How many moles of protons will have total charge equal to about

4825 coulombs

A. 0.02 mole

B. 0.5 mole

https://dl.doubtnut.com/l/_zyOtYjEc493q
https://dl.doubtnut.com/l/_u6gl8jkxzgUN
https://dl.doubtnut.com/l/_dQ6rl6AL6q3D


C. 0.05 mole

D. 0.2 mole

Answer:

Watch Video Solution

39. Which of the following samples does not contain a total of

 atoms

A. 0.375 mole of 

B. 45 g of NO

C. 24 g of Oxygen

D. 0.5 gram molecule of ethene 

Answer:

Watch Video Solution

1.8066 × 1024

S8

(C2H4)

https://dl.doubtnut.com/l/_dQ6rl6AL6q3D
https://dl.doubtnut.com/l/_gfO8WdT7lH2K


40. Total number of  molecules that can be obtained from all

hydrogen atoms of 10 formula units of  is :

A. 35 

B. 140

C. 140 

D. 35

Answer:

Watch Video Solution

H2

CH3COONH4

NA

NA

41. The number of neutrons present in 7 gm of phosphonium

 ion is  :

A. 8 

(PH +
4 ) [.31

15 P , .1
1 H]

NA

https://dl.doubtnut.com/l/_gfO8WdT7lH2K
https://dl.doubtnut.com/l/_IladgJpPREkE
https://dl.doubtnut.com/l/_anuym236ShjA


B. 3.2 

C. 4 

D. 5 

Answer:

Watch Video Solution

NA

NA

NA

42. Total number of ions in 17.1 g  is 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Al2(SO4)3 [NA = 6 × 1023]

1.5 × 1023

4.5 × 1023

3 × 1023

6 × 1022

https://dl.doubtnut.com/l/_anuym236ShjA
https://dl.doubtnut.com/l/_Q8dd5y0ae4I9


43. If 36 grams of ozone gas is replaced by an another unknown gas

'X' keeping all other parameters same and the gas X weighs 24 g. then

the unknown gas may be

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

SO2

O2

CH4

44. The potential energy of the electron present in the ground state

of  ion is represented by :Li2 +

https://dl.doubtnut.com/l/_Q8dd5y0ae4I9
https://dl.doubtnut.com/l/_ovxao4ubshI9
https://dl.doubtnut.com/l/_SRuR7EZ8KRqT


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

+
3e2

4πε0r

−
3e

4πe0r

−
3e2

4πε0r
2

−
3e2

4πε0r

45. a-particles are projected towards the following metals,with the

same kinetic energy. Towards which metal, the distance of closest

approach is minimum?

A. Cu(Z=29)

B. Ag(Z=47)

C. Au(Z=79)

D. Ca(Z=20)

https://dl.doubtnut.com/l/_SRuR7EZ8KRqT
https://dl.doubtnut.com/l/_HUm309x4V94I


Answer:

Watch Video Solution

46. Which of the following pairs has different values of e/m:

A. A proton and a neutron

B. A proton and a Deuterium nucleus

C. A Deuterium nucleus and an -particle

D. An electron and -particle

Answer:

Watch Video Solution

α

α

47. As an electron (at rest) is brought towards a proton from infinity,

its

https://dl.doubtnut.com/l/_HUm309x4V94I
https://dl.doubtnut.com/l/_Kj3dI3eRKYF7
https://dl.doubtnut.com/l/_ZOK0Uy6IvB0Q


A. Potential energy increases

B. Potential energy decreases

C. Kinetic energy increases

D. Total energy remains constant

Answer:

Watch Video Solution

48. Rutherford model: The approximate size of the nucleus can be

calculated by using energy conservation theorem in Rutherford's -

scattering experiment. If an -particle is projected from infinity with

speed v towards the nucleus having Z protons, then the -particle

which is reflected back or which is deflected by  must have

approached closest to the nucleus .It can be approximated that 

particle collides with the nucleus and gets back. Now if we apply the

energy conservation equation at initial point and collision point then:

α

α

α

180∘

α

https://dl.doubtnut.com/l/_ZOK0Uy6IvB0Q
https://dl.doubtnut.com/l/_CIlWyPVilFLX


 

, since P.E. of two charge system separated by infinite

distance is zero. Finally the particle stops and then starts coming

back. 

Thus the radius of nucleus can be calculated using above equation.

The nucleus is so small a particle
 that we can't define a sharp

boundary for it 

An -particle with initial speed  is projected from infinity and it

approaches up to  distance from a nuclie. Then, the initial speed of 

-particle, which approaches upto  distance from the nucleus is :

A. 

B. 

(P . E. )i = 0

mαv
2
α + 0 = 0 + ⇒ mαv

2
α = K ⇒ R =

1

2

Kq1q2

R

1

2
2e × Ze

R

4KZe2

mαv
2
α

α v0

r0

α 2r0

√2v0

v0

√2

https://dl.doubtnut.com/l/_CIlWyPVilFLX


C. 

D. 

Answer:

Watch Video Solution

2v0

v0

2

49. If the diameter of two different nuclei are in the ratio 2: 1, then

calculate the ratio of their mass number

Watch Video Solution

50. For a broadcasted electromagnetic wave having frequency of 1200

KHz, calculate number of waves that will be formed in 2 km distance

Watch Video Solution

https://dl.doubtnut.com/l/_CIlWyPVilFLX
https://dl.doubtnut.com/l/_PM0MrTDwzmqQ
https://dl.doubtnut.com/l/_dO6l0MEfFMfX


51. Calculate the ratio of the energy of a photon of wavelength 3000

Å to that of a photon of wavelength 6000Å respectively

Watch Video Solution

52. What volume (in mL) of liquid  has same number of

molecules as there are number of molecules in 22.4 ml  at 2

atm and 546 K. [Given Density of liquid  gm/ml]

View Text Solution

H2O2

H2O(g)

H2O2 = 6.8 × 10− 3

53. If the atomic number (Z) and mass number (A) of an element X are

related by the equation A+Z= 46 and the total number of neutrons in

one atom of X is 16, then the total number of protons and electrons

in one atom of element X='a'. Find value of 'a'

Watch Video Solution

https://dl.doubtnut.com/l/_9VVOeXAox8Kq
https://dl.doubtnut.com/l/_GMUvP5eVnBAt
https://dl.doubtnut.com/l/_3w8OGI5HMCs1


54. If the frequency of violet radiation is  Hz, then the value

of wavenumber in  for it is . Give the value of p?

Watch Video Solution

7.5 × 1014

m− 1 p × 105

55. A photon of  is absorbed by a gas and then re-emits two

photons . One re-emitted photon has wavelenght , the

wavelength of second re-emitted photon is :

A. 450 nm

B. 800 nm

C. 200 nm

D. 750 nm

Answer:

Watch Video Solution

300nm

4967nm

https://dl.doubtnut.com/l/_3pM3HOY3YuAL
https://dl.doubtnut.com/l/_wyhymPfbYaDp


56. Identify the correct statement(s)

A. Cathode rays produce heating effect when they collide with a

metal object

B. Anode rays consist of fast moving protons

C. For production of Cathode rays in a discharge tube, the gas

filled should be at a very high pressure

D. The magnitude of e/m ratio for Cathode rays is 

C/Kg

Answer:

Watch Video Solution

1.76 × 1011

57. In which of the following conditions the de Broglie wavelength of

particle A will be less than that of particle ?B(mA > mB)

https://dl.doubtnut.com/l/_P1QXSHC8j6Cr
https://dl.doubtnut.com/l/_qOuTYNc9qodu


A. Linear momentum of these particles is same

B. Both particles move with same speed

C. Both particles have same kinetic energy.

D. Same potential difference has been applied across both the

particles from rest.

Answer:

Watch Video Solution

58. Select the correct statement

A. Orthosilicate ion  and Perchlorate ion  are

isoelectronic species

B. According to Rutherford formula, volume of a nucleus is directly

proportional to mass number of nucleus

(SiO4 −
4 ) (CIO−

4 )

https://dl.doubtnut.com/l/_qOuTYNc9qodu
https://dl.doubtnut.com/l/_lGbfeNOQIgMm


C. Isotopes have different number of nucleons in them

D. All atoms of Ar ,K and Ca are isobars of each other

Answer:

Watch Video Solution

59. What change in molar energy (in J) would be associated with an

atomic transition giving rise to a radiation of 1 Hz frequency:

 Js) Report your answer after multiplying by 

View Text Solution

(h = 66 × 10− 34 1010

60. For a wave frequency is 10 Hz and wavelength is 2.5 m. How much

distance (in metres) it will travel in 40 seconds?

Watch Video Solution

https://dl.doubtnut.com/l/_lGbfeNOQIgMm
https://dl.doubtnut.com/l/_dPN1opdbG6K3
https://dl.doubtnut.com/l/_PB5uwGpVsRNO
https://dl.doubtnut.com/l/_ZkeZYDQRnAlQ


61. A certain dye absorbs 4000 Å and fluoresces at 8000 Å. These

being wavelengths of maximum absorption that under given

conditions 50 % of the absorbed energy is emitted. Calculate the

ratio of the no. of quanta emitted to the number absorbed.

View Text Solution

62. In Rutherford formula, maximum number of a-particles deflecting

is for which among the following angles :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

θ

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_ZkeZYDQRnAlQ
https://dl.doubtnut.com/l/_8DldQvrDq4oM


63. If the volume of nucleus of an atom V is related to its mass

number A as V prop Â n`according to Rutherford's formula, find the

value of n :

A. n=-1

B. n=1

C. n=1/3

D. n=-1/3

Answer:

Watch Video Solution

64. Photon of which light has minimum energy

A. green

https://dl.doubtnut.com/l/_8DldQvrDq4oM
https://dl.doubtnut.com/l/_JluqLc0e5mxh
https://dl.doubtnut.com/l/_p9gNXW9Medqv


B. blue

C. violet

D. red

Answer:

Watch Video Solution

65. Visible spectrum contains light of following colours ''Violet -

Indigo - Blue - Green - Yellow - Orange - Red'' (VIBGYOR). 

Its frequency ranges from violet  to re 

 Find out the maximum wavelength  in this

range.

A. 400 Å

B. 750 Å

C. 4000 Å

(7.5 × 1014Hz)

(4 × 1014Hz. ) (inÅ)

https://dl.doubtnut.com/l/_p9gNXW9Medqv
https://dl.doubtnut.com/l/_0Ak92J4vSBm0


D. 7500 Å

Answer:

Watch Video Solution

66. Assume that J of light energy is needed by the interior of

the human eye to see an object . How many photons of green light

 are needed to generate this minimum energy . 


A. 14

B. 15

C. 16

D. 17

Answer:

Watch Video Solution

10− 17

(λ = 495nm)

[h = 6.6 × 10− 34Js]

https://dl.doubtnut.com/l/_0Ak92J4vSBm0
https://dl.doubtnut.com/l/_tHzs5Nz10DlG


67. The work function for a metal is 4eV. To emit a photoelectron of

zero velocity from the surface of the metal, the wavelength of

incident light should be :

A. 310 Å

B. 1550 Å

C. 155 Å

D. 3100 Å

Answer:

Watch Video Solution

68. The energies  and  of two radiations are  and 

respectively. The relation between their wavelengths, i.e.,  and 

will be.

E1 E2 25eV 50eV

λ1 λ2

https://dl.doubtnut.com/l/_tHzs5Nz10DlG
https://dl.doubtnut.com/l/_8nrqypD5ixVR
https://dl.doubtnut.com/l/_7vrv6teI5YWE


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

λ1 = √2λ2

λ1 = mλ2

λ1 = 4λ2

λ1 = λ2
1

2

69. Which of the following statements is correct

A. Observations like Photoelectric effect and Blackbody radiations

could not be explained by particle nature of electromagnetic

radiations

B. UV rays and IR rays have the same frequency

C. Bohr's model is not valid for  ionLi+

https://dl.doubtnut.com/l/_7vrv6teI5YWE
https://dl.doubtnut.com/l/_Xbu9wwJsob74


D. None of these

Answer:

Watch Video Solution

70. The energy required to remove an electron from metal X is E =

. Calculate the maximum wavelength of light that can

be photoeject an electron from metal X :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3.31 × 10− 20J

4μm

6μm

7μm

5μm

https://dl.doubtnut.com/l/_Xbu9wwJsob74
https://dl.doubtnut.com/l/_KbGLLLYDiMM7


71. For which of the following species, Bohr theory doesn't apply

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

He+

H

Li2 +

H +

72. If radius of third stationary orbit (in Bohr's atom) is R. Then radius

of fourth orbit will be

A. R/5

B. 9R

C. 9R/16

https://dl.doubtnut.com/l/_w3SF394iBeub
https://dl.doubtnut.com/l/_dXe0xiwKfQKL


D. 16R/9

Answer:

Watch Video Solution

73. The radius of the first orbit of H-atom is r. then the radius of the

first orbit of  will be:

A. 3r

B. 9r

C. r/3

D. r/9

Answer:

Watch Video Solution

Li2 +

https://dl.doubtnut.com/l/_dXe0xiwKfQKL
https://dl.doubtnut.com/l/_5qXF4T7YxZhF
https://dl.doubtnut.com/l/_hgLK02I40ZS7


74. The number of  Ions in 2.1 g  is [ ]

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Br− CaBr2 NA = 6 × 1023

1.26 × 1022

6.3 × 1021

1.05 × 1021

1.2 × 1020

75. If the mass of  molecules of a hydrocarbon is about 1.2 g, then

the gram molecular mass of hydrocarbon is :

A. 36 g

B. 72 g

C. 54 g

1022

https://dl.doubtnut.com/l/_hgLK02I40ZS7
https://dl.doubtnut.com/l/_iE8FyBIGD6Se


D. 90 g

Answer:

Watch Video Solution

76. The value of R will be maximum for which of the following gases :

A. 

B. 

C. 

D. It has the same value for all gases

Answer:

Watch Video Solution

H2

N2

O2

https://dl.doubtnut.com/l/_iE8FyBIGD6Se
https://dl.doubtnut.com/l/_qPNJPGYsxI7S


77. Volume occupied by an ideal gas at one atmospheric pressure and

 is V ml. Its volume at 273 K will be

A. V ml

B. V/2 ml

C. 2V

D. None of these

Answer:

Watch Video Solution

0∘C

78. Select the correct option

A. In Photoelectric effect, all the ejected electrons have maximum

possible K.E

https://dl.doubtnut.com/l/_SpWYU2gXQPGk
https://dl.doubtnut.com/l/_oGgDLlvsqDmB


B. Work function is independent of the nature of the metal on

which light falls

C. Thomson assumed the mass of the atom to be uniformly

distributed throughout the atom

D. Rutherford's model explained the line spectrum of H atom

Answer:

Watch Video Solution

79. 11.2 litre of a gas at STP weighs 14 g The gas could not be

A. 

B. CO

C. 

D. 

N2

C2H4

N2O

https://dl.doubtnut.com/l/_oGgDLlvsqDmB
https://dl.doubtnut.com/l/_LCZ8TlR5yBNT


Answer:

Watch Video Solution

80. x g Urea  contains y total number of atoms 4x g

Acetic acid  contains py total number of atoms Find

the value of p

A. 8

B. 4

C. 2

D. 6

Answer:

Watch Video Solution

(NH2CONH2)

(CH3COOH)

https://dl.doubtnut.com/l/_LCZ8TlR5yBNT
https://dl.doubtnut.com/l/_AuYph6AFz32k


81. The triad of nuclei that is isotonic is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

.6 C
14, .7 N

15, .9 F
17

.6 C
12, .7 N

14, .9 F
19

.6 C
14, .7 N

14, .9 F
17

.6 C
14, .7 N

14, .9 F
19

82.  is isoelectronic with  and has (Z+1) neutron (Z is

atomic number of A) then mass number of A is

A. 45

B. 41

C. 49

A^(+2) N2O

https://dl.doubtnut.com/l/_ARnOYfaTkbRj
https://dl.doubtnut.com/l/_H5w9NPYEY49w


D. 43

Answer:

Watch Video Solution

83. The de-Broglie wavelength of a particle with mass  and velocity 

 is.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1g

100m/sec

6.63 × 10− 33m

6.63 × 10− 34m

6.63 × 10− 35m

6.65 × 10− 36m

https://dl.doubtnut.com/l/_H5w9NPYEY49w
https://dl.doubtnut.com/l/_mp9QUFLTDyai
https://dl.doubtnut.com/l/_yyv6qDyrVMrK


84. If the kinetic energy of a particle is doubled, De-Broglie

wavelength becomes :

A. 2 times

B. 4 times

C.  times

D.  times

Answer:

Watch Video Solution

√2

1

√2

85. Momentum of a photon of wavelength  is :

A. 

B. zero

C. 

λ

h

λ

hλ

c2

https://dl.doubtnut.com/l/_yyv6qDyrVMrK
https://dl.doubtnut.com/l/_qoPVu67fuJNn


D. 

Answer:

Watch Video Solution

hλ

c

86. When an electron drops from a higher energy level to a low

energy level, then

A. energy is absorbed

B. energy is emitted

C. atomic number increases

D. atomic number decreases

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_qoPVu67fuJNn
https://dl.doubtnut.com/l/_fL0WKJk9jFCE
https://dl.doubtnut.com/l/_frL6l9oy0hBr


87. In hydrogen atom, energy of second state is-3.4 eV. The, KE of

electron in same orbit of hydrogen atom is

A.  eV

B.  eV

C.  eV

D.  eV

Answer:

Watch Video Solution

+3.4

+6.8

−13.6

+13.6

88. In a certain electronic transition in the Hydrogen atom from an

initial state i to a final state the difference in the orbit radius

 is seven times the first Bohr radius. Identify the transition

A. 

B. 

(ri − rf)

4 → 1

4 → 2

https://dl.doubtnut.com/l/_frL6l9oy0hBr
https://dl.doubtnut.com/l/_kLkJot08YeE8


C. 

D. 

Answer:

Watch Video Solution

4 → 3

3 → 1

89. The energy of an excited H-atom is -1.51 eV. Angular momentum of

 in the given orbit will be

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

e−

3h/π

3h/2π

2h/π

h/π

https://dl.doubtnut.com/l/_kLkJot08YeE8
https://dl.doubtnut.com/l/_Pdl3ShfEk4bN


90. The radius of the an orbit of  ion is 0.529Å. The velocity of

electron in this orbit will be

A.  m/s

B.  m/s

C.  m/s

D.  m/s

Answer:

Watch Video Solution

Be+ 3

0.545 × 106

2.18 × 106

4.36 × 106

1.09 × 106

91. The ratio of radius of two different orbits in a H-atom is 4: 9 Then,

the ratio of the frequency of revolution of electron in these orbits is

A. 2: 3

https://dl.doubtnut.com/l/_Pdl3ShfEk4bN
https://dl.doubtnut.com/l/_q4QooHpHhAYL
https://dl.doubtnut.com/l/_Op8NDH7jpIpS


B. 

C. 

D. 

Answer:

Watch Video Solution

27: 8

3: 2

8: 27

92. In a gasseous mixture, if alkane  and alaene 

are taken in  mole ratio, the average molecular weight of mixture

is observed to be 20. If the same alkane and alkene are taken in 

mole ratio, the average molecular weight of mixture of mixture is

observed to be 24. Then, the valule of 'x' and 'y' and respectively :

A. 2,1

B. 1,2

C. 2,3

(CxH2x+ 2) (CyH2y)

2: 1

1: 2

https://dl.doubtnut.com/l/_Op8NDH7jpIpS
https://dl.doubtnut.com/l/_jDCuiCDIc25k


D. 3,2

Answer:

Watch Video Solution

93. Which of the following charge (s) can exist on an oil drop (in

Millikan's oil drop experiment)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3.2 × 10− 19C

8.3 × 10− 19C

4.8 × 10− 19C

9.6 × 10− 19C

https://dl.doubtnut.com/l/_jDCuiCDIc25k
https://dl.doubtnut.com/l/_XmY129PTNWsO
https://dl.doubtnut.com/l/_ZWlwc2CtnhgA


94. A single electron orbits around a stationary nucleus of charge

+Ze. It requires 47.2 eV to excite the electron from the  to  Bohr

orbit. Find atomic number 'Z' of atom .

A. Atomic number of species is 5

B. The kinetic energy in first excited state is 85 eV

C. The potential energy in second state is -170 eV

D. First excitation potential of species is 255 V

Answer:

Watch Video Solution

2nd 3rd

95. Which one of the following relationships when graphed does not

give a straight line for helium gas? 

I. K.E. and T at constant pressure and volume 

II. P v/s V at constant temperature for a constant mass 

III. V v/s 1/T at constant pressure for a constant mass

https://dl.doubtnut.com/l/_ZWlwc2CtnhgA
https://dl.doubtnut.com/l/_V2VWvaFBDZR7


A. I

B. II

C. III

D. IV

Answer:

Watch Video Solution

96. Infrared lamps are used in restaurants to keep the food warm. The

infrared radiation is strongly absorbed by water, raising is

temperature and that of the food. If the wavelength of infrared

radiation is assumed to be , then the number of photons per

second of infrared radiation produced by an infrared lamp that

consumes energy at the rate of  and is  efficient only is 

. Find the value of .

Watch Video Solution

1500nm

100W 12 %

y × 1019 y

https://dl.doubtnut.com/l/_V2VWvaFBDZR7
https://dl.doubtnut.com/l/_kPZc7ItMxfdg


97. The number of revolutions/sec made by an electron in lind orbit is

8 times of the number of revolutions/sec made by an electron in 

orbit. Give the value of "n".

View Text Solution

nth

98. In the Bohr's model , for unielectronic species following symbols

are used 

 Radius of  orbit with atomic number "z" 


 Potential energy of electron in  orbit with atomic

number "z" 

 Kinetic energy of electron in  orbit with atomic number

"z" 

 Velocity of electon in  orbit with atomic number "z" 


 Time period of revolution of electon in  orbit with atomic

number "z" 

rn ,z → nth

Un ,z → nth

Kn ,z → nth

Vn ,z → nth

Tn ,z → nth

https://dl.doubtnut.com/l/_kPZc7ItMxfdg
https://dl.doubtnut.com/l/_TCr5CI7wG8Ut
https://dl.doubtnut.com/l/_zktkSgG7bvXM


Calculate z in all in cases. 

(i)  


(ii)  


(iii)  


(iv)  


Report your answer as (2r-p-q-s) where p,q,r and s represents the

value of "z" in parts (i),(ii),(iii),(iv).

View Text Solution

U1 ,2 :K1 ,z = − 8: 9

r1 ,z : r2 ,1 = 1: 12

v1 ,z : v3 ,1 = 15: 1

T1 ,2 : T2 ,z = 9: 32

99. What is the ratio of the wave lengths of last lines of Balmer and

Lyman series

Watch Video Solution

100. Number of possible sepectral lines which ,may br emitted in

bracket series in H atom , if electron present in  excited level

returns to ground level ,are

9th

https://dl.doubtnut.com/l/_zktkSgG7bvXM
https://dl.doubtnut.com/l/_dX4i40qZVvpi
https://dl.doubtnut.com/l/_ZKelFy7zk1w6


Watch Video Solution

101. What minimum number of atoms lions should be present in a

sample of H-like species, so that a maximum of 6 spectral lines can be

produced of electronic transition from fifth excited state upto n=2 ?

View Text Solution

102. In a mixture of sample of H-atoms and He ions, electrons in all

the H-atoms and  ions are present in n =  state. Then, find

maximum number of different spectral lines obtained when all the

electrons make transition from n=4 upto ground state

View Text Solution

He+ 4th

103. Volume at NTP of 0.22 g of  is same as that ofCO2

https://dl.doubtnut.com/l/_ZKelFy7zk1w6
https://dl.doubtnut.com/l/_uHteO5SWvCQ1
https://dl.doubtnut.com/l/_Itp6yVPb2bPn
https://dl.doubtnut.com/l/_4lovLeJjuH2o


A. 0.01 g of hydrogen

B. 0.085 g of 

C. 320 mg of gaseous 

D. All of these

Answer:

Watch Video Solution

NH3

SO2

104. Which of the following is incorrect about a sample of 11.2L 

gas at STP :

A. Number of molecules in the samples are 

B. Weight of 11.2 L of  (g) at STP is 8 g

C. Number of atoms in the sample are 

D. None of these

CH4

3.01 × 1023

CH4

15.05 × 1023

https://dl.doubtnut.com/l/_4lovLeJjuH2o
https://dl.doubtnut.com/l/_1NLMSndvNC5u


Answer:

Watch Video Solution

105. Boron has two isotopes, B-10 and B-11. The average atomic mass

of boron is found to be 10.80u. Calculate the percentage of

abundance of these isotopes.

A. B-10=80% , B-11=20%

B. B-10=40 % , B-11=60%

C. B-10=20 % , B-11=80%

D. B-10=70 % , B-11=30%

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_1NLMSndvNC5u
https://dl.doubtnut.com/l/_ff6ja0MFTSvs


106. 0.2 moles of an unknown compound weigh 5.6 g. The unknown

compound is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

N2

CO2

CO

N2O

107.  and a proton are accelerated by the same potential, their

de  Broglie wavelengths have the ratio ( assume mass of proton 

 mass of neutron 

A. 

Be3 +

−

= ) :

1: 2

https://dl.doubtnut.com/l/_wGOjeV0XXFK5
https://dl.doubtnut.com/l/_jgu4loVA6Q0v


B. 

C. 

D. 

Answer:

Watch Video Solution

1: 4

1: √21

1: 3√3

108. If numerical value of mass and velocity are equal then de Broglie

wavelength in terms of K.E. is

A. 

B. 

C. both are correct

D. none is correct

Answer:

mh
2K.E.

h

2mK.E.

https://dl.doubtnut.com/l/_jgu4loVA6Q0v
https://dl.doubtnut.com/l/_izTpGsL52WdH


Watch Video Solution

109. If the de-Broglie wavelength of an electron revolving in  orbit

of H-atom is x, then radius of that orbit is given by :

A. 

B. 

C. 

D. Cannot be determined

Answer:

Watch Video Solution

2nd

x

π

2x

π

x

2π

110. The most probable radius (in pm) for finding the electron in 

is.

He+

https://dl.doubtnut.com/l/_izTpGsL52WdH
https://dl.doubtnut.com/l/_azpXd9L94TIX
https://dl.doubtnut.com/l/_4w9yP3kSTPan


A. 

B. 

C. 26.5

D. 105.8

Answer:

Watch Video Solution

0.0

52.9

111. What is the ratio of minimum to maximum wavelength of

radiation emitted by electron when it jump from as higher state to

ground state in  ion ?

A. 

B. 

C. 

D. 

Li2 +

1

4

8

9

3

4

1

9

https://dl.doubtnut.com/l/_4w9yP3kSTPan
https://dl.doubtnut.com/l/_OhYNV9qy9Zjl


Answer:

Watch Video Solution

112. According to Heisenberg's uncertainty principle, on increasing

the wavelength of light used to locate a microscopic particle,

uncertainly in measurement of position of particle :

A. Increases

B. decreases

C. Remains unchanged

D. Cannot be determined

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OhYNV9qy9Zjl
https://dl.doubtnut.com/l/_SDvl0dQF8e8D


113. The uncertainty in momentum of an electron is

. The uncertainty in its position will be 

.

A.  m

B.  m

C.  m

D.  m

Answer:

Watch Video Solution

1 × 10− 5kg − m/s

(h = 6.62 × 10− 34kg = m2 /s)

1.05 × 10− 28

1.05 × 10− 26

5.27 × 10− 30

5.25 × 10− 28

114. Given  and , the

uncertainty involved in the measuremenetof velocity within a

distance of  is

me = 9.11 × 10− 31kg h = 6.626 × 10− 34Js

0.1Å

https://dl.doubtnut.com/l/_Rob83XyJHj9b
https://dl.doubtnut.com/l/_FId4nrF41J76


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

5.79 × 108ms− 1

5.79 × 105ms− 1

5.79 × 106ms− 1

5.79 × 107ms− 1

115. if uncertainty in momentum is twice the uncertainty in position

of an electron, then uncertainty in velocity of electron is 

A. 

B. 

C. 

D. 

[ħ = ]
l

2π

√ħ
1

2m

h

4πm

1

4m

√ħ
1

m

https://dl.doubtnut.com/l/_FId4nrF41J76
https://dl.doubtnut.com/l/_NDBVYWho07zk


Answer:

Watch Video Solution

116. Two electrons A and B in an atom have the following set of

quantum numbers , what is true for A and B: For A, n=3,l=2,m=-2,

 , For B,n=3,l=0,m=0,

A. A and B have same energy

B. A has more energy than B

C. B has more energy than A

D. A and B represent the same electron

Answer:

Watch Video Solution

s = ±
1

2
s = ±

1

2

https://dl.doubtnut.com/l/_NDBVYWho07zk
https://dl.doubtnut.com/l/_rA2xZhnONOgq


117. Which of the following pair of orbitals for mentioned species

have equal energy :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2s(He+ ) and 4p(H)

8p(He+ ) and 6s(Li2+)

6s(He+ ) and 18s(Be3+)

4p(He+ ) and 8d(Be3 + )

118. When photons of energy 4.25eV strike the surface of a metal A,

the ejected photoelectrons have maximum kinetic energy, 

(expressed in eV) and deBroglie wavelength . The maximum kinetic

energy of photoelectrons liberated from another metal B by photons

TA

λA

https://dl.doubtnut.com/l/_jdYoZ0y6z69z
https://dl.doubtnut.com/l/_eyzYkZliwsk4


of energy 4.20V is . If the deBroglie wavelength of

those photoelectrons is  then

A. The work function of metal A is 2.25 eV

B. The work function of metal B is 4.20 eV

C. 

D. 

Answer:

Watch Video Solution

TB = TA − 1.50eV

λB = 2λA

(KE)A = 2eV

(KE)B = 2.75eV

119. Azimuthal quantum number (l) : 

It describes the shape of electron cloud and the number of subshells

in a shell. It can have value from 0 to (n-1) 

 


Number of orbitals in a subshell =2l+1 

Orbital angular momentum L

Value of l 0 1 2 3

subshell s p d r

https://dl.doubtnut.com/l/_eyzYkZliwsk4
https://dl.doubtnut.com/l/_0Kd1BwNtYNJh


 


Magnetic quantum number (m) : 

It describes the orientations of the subshells . It can have values from

-l to +l including zero, i.e. , total (2l+1) values . Each value corresponds

to an orbital. s-subshell has one orbital , p-subshell three orbitals

 , d-subshell five orbitals  and f-

subshell has seven orbitals. 

Spin quantum number (s) : 

It describes the spin of the electron. It has values +1/2 and -1/2 .

Signifies clockwise spinning and anticlockwise rotation of electron

about its own axis. 

Spin of the electron produces angular momentum equal to

 where  


Total spin of an atom  or  (where n is the number of

unpaired electron ) 

The magnetic moment of an atom 

 B.M. n=number of unpaired electrons 


B.M. (Bohr magneton) 

= √l(l + 1) = ħ√l(l + 1)   [ħ = ]
h

2π
h

2π

(px, py and pz) (dxy, dyz, dx2 −y2, d2
z)

S = √s(s + 1)
h

2π
s = +

1
2

= +
n

2
−

n

2

μs = √n(n + 2)

https://dl.doubtnut.com/l/_0Kd1BwNtYNJh


Orbital angular momentum of an electron is  then the number

of orientations of this orbital in spaces are :

A. 3

B. 5

C. 7

D. 9

Answer:

Watch Video Solution

√3
h

π

120. In one experiment , a proton having kinetic energy of 1 eV is

accelerated through a potential difference of 3 V. In another

experiment, an -particle having initial kinetic energy 20 eV is

retarded by a potential difference of 2 V. Calculate the ratio of de-

Broglie wavelengths of proton and  - particle.

View Text Solution

α

α

https://dl.doubtnut.com/l/_0Kd1BwNtYNJh
https://dl.doubtnut.com/l/_mjdTpLdz6sin


121. If the value of Azimuthal Quantum Numbe l for an electron in a

particular subshell is 3, then what will be the maximum value of shell

number associated with this electron.

Watch Video Solution

122. What is the value of  for all possible orbitals with

number of radial nodes = 1 and where .

View Text Solution

( )
n + l + m

2

n ≤ 3

123. In a sample of hydrogen atom containing 1 mole of H atoms,

electrons in 30% of H-atoms are in  excited state and remaining

are in  excited state and ground state . If the total energy emitted

when all electrons return to ground state is 642.24 kJ, find % of

1st

2nd

https://dl.doubtnut.com/l/_mjdTpLdz6sin
https://dl.doubtnut.com/l/_RePfhfKo8Eay
https://dl.doubtnut.com/l/_uUnJA5FhTqod
https://dl.doubtnut.com/l/_r9Pg6xVg62j9


electron in  excited state . Energy level in H-atom =

 and (1 eV/ species

=96 kJ /mole)

View Text Solution

2nd

E1 = − 13.6eV , E2 = − 3.4eV , E3 = − 1.5eV

124. What is the maximum possible number of electrons in an atom

with (n+l=7)

Watch Video Solution

125. In a sample one H atom is in  excited state, two  ion are

in  excited state and three  ions are in  excited state.

Then , find the maximum number of spectral lines which can be

obtained , when all possible transitions terminate at n=1 :

A. 9

B. 10

1st He+

IInd Li2 + III rd

https://dl.doubtnut.com/l/_r9Pg6xVg62j9
https://dl.doubtnut.com/l/_IVTrOD5rDQkv
https://dl.doubtnut.com/l/_XYw0yJS1VxxH


C. 11

D. 8

Answer:

Watch Video Solution

126. Among the following , which orbital in  has same energy as

that of electron in  in ground state and also has 2 angular

nodes ?

A. 2s

B. 

C. 

D. None of these

Answer:

W t h Vid S l ti

Be3 +

He+

2px

3dxy

https://dl.doubtnut.com/l/_XYw0yJS1VxxH
https://dl.doubtnut.com/l/_RqnwsC2zu4yg


Watch Video Solution

127. A neutral atom of an element has 2K, 8L, 9M and 2N electrons .

Which of the following is/are correctly matched :

A. Total number of s electrons -8

B. Total number of p electrons -12

C. Total number of d electrons -1

D. Number of unpaired electrons in element -3

Answer:

Watch Video Solution

128. 4.0 g of caustic soda (NaOH) contains same number of sodium

ions as are present in :

A. 5.3 g of Na2CO3

https://dl.doubtnut.com/l/_RqnwsC2zu4yg
https://dl.doubtnut.com/l/_fiwxX9oWpQ7Z
https://dl.doubtnut.com/l/_Y6zTUX4HJ7wp


B. 0.05 mole of 

C. 5.85 g of NaC l

D. 0.1 mole of 

Answer:

Watch Video Solution

Na2SO4

NaNO3

129. Which of the following process lead to formation of isobars ?

A. 1  particle and  particles are emitted

B. positron emission

C.  particle  emission

D. `K-electron capture

Answer:

Watch Video Solution

α 2β

β (
0
e

− 1
)

https://dl.doubtnut.com/l/_Y6zTUX4HJ7wp
https://dl.doubtnut.com/l/_bdRaTO0R3y01


130. In the disintegration of a radioactive element, - and -particles

are evolved from the nucleus. 

 Antineutrino + Energy 


 Energy 


Then, emission of these particles changes the nuclear configuration

and results into a daughter nuclide. Emission of an -particles results

into a daughter element having atomic number lowered by 2 and

mass number by 4, on the other hand, emission of a -particle yields

an element having atomic number raised by 1. 

During -decay, the mass of atomic nucleus

A. decreases by 1 unit

B. increases by 1 unit

C. decreases by 2 unit

D. Remains unaffected

Answer:

α β

.0 n
1 → .1 H

1 + . − 1 e
0 +

4.1 H
1 → .2 He4 + 2. + 1 e

0 +

α

β

β

https://dl.doubtnut.com/l/_bdRaTO0R3y01
https://dl.doubtnut.com/l/_U8MD27CBAoH2


Watch Video Solution

131. The de-Broglie wavelength of electron in a certain orbit 'n' of

 ion is found to be 5.83 Å.Find the value of 'n'.Take  Bohr

radius for H-atom =53 pm :

Watch Video Solution

Be3+ I st

132. Find the value of x+2y+z 

x=no. of radial nodes in  , y=no. of angular nodes in 6s 


z=the maximum no. of electrons in  with n=3 and s=  and

orbital angular momentum 

Watch Video Solution

3px

.24 Cr +
1

2

√6ħ

133.  alpha particle 

+Beta particle 


.72 Re
162 → .z1 X

A1 +

.74 W
188 → .Z2 Y

A2

https://dl.doubtnut.com/l/_U8MD27CBAoH2
https://dl.doubtnut.com/l/_LEEgDSprceKO
https://dl.doubtnut.com/l/_BLBxgcq87q6Y
https://dl.doubtnut.com/l/_dV6YCWdCx00D


value of  is :

Watch Video Solution

A2 − A1

Z2 − Z1

134. Carbon has strong tendency to show catenation due to :

A. Its tetravalency

B. small size

C. Its high C-C bond energy

D. All of these

Answer:

Watch Video Solution

135. Which of the following is the empirical formula of  ?

A. CH

C6H6

https://dl.doubtnut.com/l/_dV6YCWdCx00D
https://dl.doubtnut.com/l/_HHpqGVsRyCOM
https://dl.doubtnut.com/l/_uLIvQgj4rSzI


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

C2H2

C6H6

136. What is the general formula of alkene ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CnH2n+ 2

CnH2n

CnH2n− 2

CnH2n+ 4

https://dl.doubtnut.com/l/_uLIvQgj4rSzI
https://dl.doubtnut.com/l/_KDJAHxTlfGEP


137. Which of the following has 28 molecular mass ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H2

C2H6

C2H4

C3H4

138. Which of the following is third member of  homologous

series ?

A. 

B. 

CnH2n− 2

C2H2

C3H4

https://dl.doubtnut.com/l/_KDJAHxTlfGEP
https://dl.doubtnut.com/l/_G033QyFx22sp
https://dl.doubtnut.com/l/_ZviLwTe4d9Ai


C. 

D. 

Answer:

Watch Video Solution

C4H6

C4H8

139. Total number of bonds in  ?

A. 8

B. 9

C. 10

D. 11

Answer:

Watch Video Solution

HC ≡ C − C ≡ CH

https://dl.doubtnut.com/l/_ZviLwTe4d9Ai
https://dl.doubtnut.com/l/_JfZCLqslTa16
https://dl.doubtnut.com/l/_oOi1X0HXhJHn


140. Ketene  has

A. Only  carbon atom

B. Only sp carbon atom

C.  and sp carbon atoms

D.  carbon atoms

Answer:

Watch Video Solution

CH2 = C = O

sp2

sp2

sp3, sp2 and sp

141. Which one is not true for all the members of a homologous

series

A. All members have same general formula

B. All members have same chemical properties

C. All members have same physical properties

https://dl.doubtnut.com/l/_oOi1X0HXhJHn
https://dl.doubtnut.com/l/_AdOjFVqeG53T


D. All members have same functional groups

Answer:

Watch Video Solution

142. In the given compounds how many are unsaturated hydrocarbon

? 

View Text Solution

143. How many C-C sigma  bonds are present in the given

compound ? 

(σ)

https://dl.doubtnut.com/l/_AdOjFVqeG53T
https://dl.doubtnut.com/l/_OE9tiLY4UEQl
https://dl.doubtnut.com/l/_0FTBwWXYbHZg


View Text Solution

144. Total number of  hydrogens present in given compound are ? 


Watch Video Solution

3∘

https://dl.doubtnut.com/l/_0FTBwWXYbHZg
https://dl.doubtnut.com/l/_MqQkLpdIcBkN


145.  

Estrone is a human hormones. How many number of  hybridised

carbon atoms are present in the structure of estrone

View Text Solution

sp2

146. In the organic compound

 , the pair of hybridised

orbitals involved in the formation of  bond is :

1

CH2 =
2

CH −
3
CH2 −

4

CH2 −
5
CH =

6
CH2

C2 − C3

https://dl.doubtnut.com/l/_MqQkLpdIcBkN
https://dl.doubtnut.com/l/_d3PDnbLUkMA8
https://dl.doubtnut.com/l/_7guepHeMnHxO


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sp − sp2

sp − sp3

sp2 − sp3

sp3 − sp3

147. Which of the following has  carbon

A. 

B. 

C. 

3∘

CH3 − C
∣

NH3

H − CH2 − CH3

CH3 −

CH3
∣

C
∣

CH3

− OH

https://dl.doubtnut.com/l/_7guepHeMnHxO
https://dl.doubtnut.com/l/_xsYkQJbBAl4V


D. 

Answer:

Watch Video Solution

CH3 −

CH3
∣

C
∣

CH3

− CH3

148. In following compound -

 


The correct lowest set of locants are :

A. 3,3,4,5

B. 3,4,5,5

C. 4,5,3,3

D. 5,5,4,3

Answer:

W h Vid S l i

CH3 − CH2 −

CH3
∣

C
∣

CH3

− C
∣

CH3

H −

CH3
∣

C H − CH2 − CH3

https://dl.doubtnut.com/l/_xsYkQJbBAl4V
https://dl.doubtnut.com/l/_x77Z1A4z1Puj


Watch Video Solution

149. Which of the following is  chloride ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3∘

CH3 − CH2 − Cl

(CH3)2CHCl

(CH3)3CCl

(CH3)3CCH2Cl

150. What is the correct IUPAC name of  is ?

A. Tetramethyl methane

B. Trimethylethane

(CH3)4C

https://dl.doubtnut.com/l/_x77Z1A4z1Puj
https://dl.doubtnut.com/l/_G4TNCNcGCEkx
https://dl.doubtnut.com/l/_aQY9eZ98ogTP


C. Dimethyl propane

D. Pentane

Answer:

Watch Video Solution

151. What is the correct IUPAC name of  is ?

A. Tetraethyl methane

B. 3,3-Diethyl pentane

C. Triethylethane

D. Octane

Answer:

Watch Video Solution

(C2H5)4C

https://dl.doubtnut.com/l/_aQY9eZ98ogTP
https://dl.doubtnut.com/l/_x1BMb1WCdiNQ
https://dl.doubtnut.com/l/_2FRGhRcGWmzt


152. Which of the following are used as primary suffix :

A. Bromo

B. Nitro

C. Methoxy

D. 

Answer:

Watch Video Solution

−ene

153. The name of  is :

A. Isohexane

B. 2,2,4-Trimethylpentane

C. Neoocatne

CH3 −

CH3
∣

C
∣

CH3

− CH2 −

CH3
∣

C H − CH3

https://dl.doubtnut.com/l/_2FRGhRcGWmzt
https://dl.doubtnut.com/l/_KEFv41OI0Y76


D. Isoheptane

Answer:

Watch Video Solution

154. What is the general formula of alkyl group ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CnH2n+ 2

CnH2n

CnH2n+ 1

CnH2n− 2

https://dl.doubtnut.com/l/_KEFv41OI0Y76
https://dl.doubtnut.com/l/_URVLO2ayHmJC


155. Which of the following  name is/are correct ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

IUPAC

156. Which of the following structure represents 2, 2, 3-

trimethylhexane ?

A. 

https://dl.doubtnut.com/l/_E2f9gso063qV
https://dl.doubtnut.com/l/_tOn9JHdAKI0n


B. 

C. 

D. 

Answer:

Watch Video Solution

157. Which of the following is/are incorrect IUPAC name ?

A. 1,1,1-Dimethyl ethane

B. 2-Methyl-3-ethylpentane

C. 3-Methyl-4-ethylhexane

https://dl.doubtnut.com/l/_tOn9JHdAKI0n
https://dl.doubtnut.com/l/_15dMqTry3ehf


D. 3-Ethyl-4-methylhexane

Answer:

Watch Video Solution

158. How many isopropyl groups are present in the parent chain ? 

View Text Solution

https://dl.doubtnut.com/l/_15dMqTry3ehf
https://dl.doubtnut.com/l/_wxmkJh9a3ZK6


159.  

Is a derivative of amino acid how many number of  hybridised

carbon atoms in given structure.

View Text Solution

sp2

160. How many compounds are hydrocarbon in the following ? 

View Text Solution

https://dl.doubtnut.com/l/_1HlBzZs1YWOo
https://dl.doubtnut.com/l/_pgawr63XkFAc


161. How many of following IUPAC names of given strutures are

correct . 

View Text Solution

162. Which of the following compound is unstable

A. 

B. 

C. 

CH3 − CH = CH − Cl

CH2 = CH − CH2 − OH

CH2 = CH − CH2 − Cl

https://dl.doubtnut.com/l/_pgawr63XkFAc
https://dl.doubtnut.com/l/_GYkRL4Wjau0R
https://dl.doubtnut.com/l/_u4A50O5Dey87


D. 

Answer:

Watch Video Solution

CH3 − CH = CH − OH

163.  is a/an

A. Allylic bromide

B. Benzylic bromide

C. Vinylic bromide

D. All of these

Answer:

Watch Video Solution

CH2 = CH − Br

https://dl.doubtnut.com/l/_u4A50O5Dey87
https://dl.doubtnut.com/l/_yDbaXqyzb7xE


164. The IUPAC name of compound

 is

A. 2,2-Dimethylpent-4-ene

B. 2,2-Dimethyl-2-pentene

C. 1,1,1-Trimethylbut-3-ene

D. 4,4-Dimethylpent-1-ene

Answer:

Watch Video Solution

CH3 − C(CH3)2 − CH2 − CH = CH2

165. IUPAC name of  is

A. 2-Bromo-1-chlorobut-1-ene

B. 1-Chloro-2-bromobut-1-ene

C. 3-Chloro-2-bromobut-1-ene

CH3CH2C(Br) = CH − Cl

https://dl.doubtnut.com/l/_fjKlcfndw1F1
https://dl.doubtnut.com/l/_jOq3K3sIcuDr


D. 3-Bromo-4-chlorobut-3-ene

Answer:

Watch Video Solution

166. The IUPAC name of the following compound will be 

A. 3-Ethyl-2-hexene

B. 3-Propyl-2-hexene

C. 3-Propyl-3-hexene

D. 4-Ethyl-4-hexene

Answer:

Watch Video Solution

CH3 − CH = C − CH2 − CH3

                       ∣

                      CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_jOq3K3sIcuDr
https://dl.doubtnut.com/l/_fn4U9UfF0AqY


167. IUPAC name of  is

A. 4-Bromo-3-ethylpenta-1,4-diene

B. 2-Bromo-3-ethylpenta-1,4-diene

C. 2-Bromo-3-ethylpenta-1,5-diene

D. None of these

Answer:

Watch Video Solution

CH2 = CH − CH(C2H5)C
∣
Br

= CH2

168. The IUPAC name of the compound

 is

A. 4-Ethylpent-2-ene

B. 4-Methylhex-2-ene

C. 3-Ethylpent-2-ene

CH3 − CH(C2H5) − CH = CH − CH3

https://dl.doubtnut.com/l/_FitpQBTcnnln
https://dl.doubtnut.com/l/_KAWnSdKPit3v


D. 2-Ethylpent-2-ene

Answer:

Watch Video Solution

169. Consider the following compound: 

 

The  name of the this compound is

A. 5,6-Diethyl-3,8-dimethyldecane

B. 5,6-Diethyl-3,8-dimethyldec-4-ene

C. 3,5,6,8-Tetramethyldec-6-ene

D. 2,4,5,7-Tetraethyloct -3-ene

IUPAC

https://dl.doubtnut.com/l/_KAWnSdKPit3v
https://dl.doubtnut.com/l/_BDo1uPELDHVE


Answer:

Watch Video Solution

170. Which is /are secondary alcohol

A. Isopropanol

B. Secondary butanol

C. 3-methylpentane-2-ol

D. Pentan-3-ol

Answer:

Watch Video Solution

171. Which the sum of position of functional group and substituent in

the given structure 

https://dl.doubtnut.com/l/_BDo1uPELDHVE
https://dl.doubtnut.com/l/_a6mNh1LZ5J5E
https://dl.doubtnut.com/l/_43TQytNcwW0d


View Text Solution

172. In how many of the following compound. -OH group directly

attached on the benzene ring ? 

(1) Glycol , (2)Glycerol , (3)o-cresol , (4)p-cresol , (5)Phenol , (6)aniline ,

(7) anisol , (8)resorcinol , (9)catehol , (10)Hydroquinone

Watch Video Solution

https://dl.doubtnut.com/l/_43TQytNcwW0d
https://dl.doubtnut.com/l/_S2qU0PjWsSbp


173. How many of the following are tertiary amines ? 

View Text Solution

174. In the compound

 how many

carbon atoms present in the parent chain ?

Watch Video Solution

H3C − C
∣
OH

H − CH2 − CH2 − C
∣
OH

H − C
∣

C2H5

H − CH3

175. How many ketones of the following has hex root word ? 

View Text Solution

https://dl.doubtnut.com/l/_boVKjasf5Lyy
https://dl.doubtnut.com/l/_fnBBSOVBsfrl
https://dl.doubtnut.com/l/_b9oddem82sLt


176. The IUPAC name of compound  is :

A. 1-Bromoacetamide

B. N-Bromoethanamide

C. Ethanoyl bromide

D. None of these

Answer:

Watch Video Solution

CH3CONHBr

177. What is the common name of Ethanoic acid ?

A. Formic acid

B. Acetic acid

https://dl.doubtnut.com/l/_b9oddem82sLt
https://dl.doubtnut.com/l/_20ubCrfrM5MZ
https://dl.doubtnut.com/l/_86zzAUlJgAes


C. Acetaldehyde

D. Propionic acid

Answer:

Watch Video Solution

178. The IUPAC name of  is

A. Pent-4-en-2-amine

B. 1-Methylbut-3-en-1-amine

C. Pent-1-en-4-amine

D. 4-Methylbut-1-en-4-amine

Answer:

Watch Video Solution

CH3 − C
∣

NH2

H − CH2CH = CH2

https://dl.doubtnut.com/l/_86zzAUlJgAes
https://dl.doubtnut.com/l/_ygs1EhclGBIC
https://dl.doubtnut.com/l/_Z7zNVpd8OoZR


179. The compound 2-Ethylhex-2-ene-1-thiol has the structure :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H5OH = CHCH2CH2SH

CH3 C
∣

CH3

HCH2CH = C
∣

CH3

CH2SH

CH3CH2CH2CH = C
∣

        CH2CH3

CH2SH

CH3C
∣
SH

HCH = CHCH2NH2

180. The correct IUPAC name of the compound  is :

A. Trimethylmethane-1-sulphonic acid

B. 1,1-Dimethylethane-1-sulphonic acid

C. Butanesulphonic acid

(CH3)3CSO3H

https://dl.doubtnut.com/l/_Z7zNVpd8OoZR
https://dl.doubtnut.com/l/_om66MkDbqwB5


D. 2-Methylpropane -2-sulphonic acid

Answer:

Watch Video Solution

181. The correct IUPAC name of

 is

A. 2-Chloroethylaminoethane

B. 2-Chloroethlyl(propyl) amine

C. N-(2-Chloroethyl) propan-1-amine

D. N-(2-chloroethyl) propylamine

Answer:

Watch Video Solution

ClCH2 − CH2 − NH − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_om66MkDbqwB5
https://dl.doubtnut.com/l/_J1CstWK0ESnn
https://dl.doubtnut.com/l/_94ZoB2S8HqGa


182. Which of the following is correctly matched ?

A.  Glycol

B.  Oxalic acid

C. 

D.  Succinic acid

Answer:

Watch Video Solution

C
∣
OH

H2 − C
∣
OH

H2

C
∣

    COOH

OOH

HOOC − CH2 − CH2 − COOH

183. How many of the following compounds contain the functional

group ester ? 

View Text Solution

https://dl.doubtnut.com/l/_94ZoB2S8HqGa
https://dl.doubtnut.com/l/_sMMl6B3qTayx


184. In how many of the following compound secondary suffix name is

used as carboxylic acid ? 

View Text Solution

185.  

How many aldehyde (-CHO) groups present in the given compound ?

View Text Solution

https://dl.doubtnut.com/l/_sMMl6B3qTayx
https://dl.doubtnut.com/l/_qUr5zxLGruRQ
https://dl.doubtnut.com/l/_iQguMMM6TSGg


186. Which is Aspirin ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_a9vjswQMte5Q


187. How many benzylic hydrogen are present is cumene :

A. 1

B. 2

C. 3

D. 6

Answer:

Watch Video Solution

188. Isomers have essentially identical :

A. Structural formula

B. Chemical properties

C. Molecular formula

D. Physical properties

https://dl.doubtnut.com/l/_Qw9ncaIQHGfc
https://dl.doubtnut.com/l/_Db0eOWnU6oQY


Answer:

Watch Video Solution

189. The structure  shows :

A. position isomers

B. chain isomerism

C. functional isomerism

D. None of these

Answer:

Watch Video Solution

(CH3)2CHCH2Br and CH3(CH2)3Br

190. What is the common name of Ethyl ethanoate ?

https://dl.doubtnut.com/l/_Db0eOWnU6oQY
https://dl.doubtnut.com/l/_EvmsN7UVLdWr
https://dl.doubtnut.com/l/_mVILGZPcaxll


A. Methyl formate

B. Acetaldehyde

C. Ethyl formate

D. Ethyl acetate

Answer:

Watch Video Solution

191. n-Propyl alcohol and isopropyl alcohol are examples of

A. position isomers

B. chain isomerism

C. Tautomerism

D. Geometrical isomerism

Answer:

https://dl.doubtnut.com/l/_mVILGZPcaxll
https://dl.doubtnut.com/l/_oLgpTT7GtPsE


Watch Video Solution

192. The compound which is not isomeric with diethyl ether is :

A. n-Propylmethyl ether

B. Butan-1-ol

C. 2-Methylpropan-2-ol

D. Butanone

Answer:

Watch Video Solution

193. Number of possible position isomers for Dichlorobenzene is

A. 3

B. 4

https://dl.doubtnut.com/l/_oLgpTT7GtPsE
https://dl.doubtnut.com/l/_blOKGOeSBo4N
https://dl.doubtnut.com/l/_NFuNGydOQMkT


C. 2

D. 5

Answer:

Watch Video Solution

194. Molecular formula  represents :

A. Only primary amine

B. Only secondary amine

C. Three primary amine, two secondary amine and one tertiary

amine

D. Two primary amine, one secondary amine and one tertiary

amine

Answer:

C3H9N

https://dl.doubtnut.com/l/_NFuNGydOQMkT
https://dl.doubtnut.com/l/_oD9nZhNTAMIt


Watch Video Solution

195. Which of the following alkene can give 3-methylpentane on

hydrogenation

A. 3-methylpent-1-ene

B. 3-methylpent-2-ene

C. 2-methylpent-1-ene

D. 2-ethylbut-1-ene

Answer:

Watch Video Solution

196.  


Which is/are true about above two structure -

H −

O

∣ ∣

C − OC2H5andCH3 −

O

∣ ∣

C − CH2 − OH

https://dl.doubtnut.com/l/_oD9nZhNTAMIt
https://dl.doubtnut.com/l/_Y1hoeb49z7bH
https://dl.doubtnut.com/l/_xj1vmUySfxn4


A. Degree of unsaturation is (1)

B. Both have functional formula

C. Both are metamers

D. Both have same molecular formula

Answer:

Watch Video Solution

197. How many methyl hexane are possible :

Watch Video Solution

198. How many carboxylic acids (structural isomers only ) of molecular

formula  is possible

Watch Video Solution

C5H10O2

https://dl.doubtnut.com/l/_xj1vmUySfxn4
https://dl.doubtnut.com/l/_hp4JaTg9b2gm
https://dl.doubtnut.com/l/_TNA03GOCNunh


199. How many ketones with molecular formula  is possible

(structural isomers only ).

Watch Video Solution

C5H10O

200. How many dichlorodiphenyl with molecular formula 

of each bezene ring containing only one (-Cl) group are possible :

View Text Solution

C12H8Cl2

201.  Major product is :

A. 

B. 

C. 

CH3 − C
∣

CH3

H − Br
Na/ether
−−−−→

Δ

CH3 − C
∣

CH3

H − CH3

CH3 − C
∣

CH3

H − CH2 − CH3

CH3 − C
∣

CH3

H − C
∣

CH3

H − CH3

https://dl.doubtnut.com/l/_NDKyrirjhofE
https://dl.doubtnut.com/l/_D8QOfVK90FtS
https://dl.doubtnut.com/l/_n3AZqMfyPATY


D. 

Answer:

Watch Video Solution

CH3 − C
∣

CH3

− CH2 − CH3

202.  Major product is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − C
∣
Cl

H2
alc. KOH
−−−−→

Δ

CH3 − CH2 − CH2 − CH2 − CH3

CH3 − CH2 − CH2 − CH = CH2

CH3 − C
∣

CH3

= CH − CH3

CH3 − C
∣

CH3

= CH − CH3

https://dl.doubtnut.com/l/_n3AZqMfyPATY
https://dl.doubtnut.com/l/_dIJlLVIgAFee
https://dl.doubtnut.com/l/_XvHAH1rhd7Hl


203.  Major product is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 −

CH3

∣

C
∣
OH

− CH3
Conc .H2SO4
−−−−−−−→

Δ

CH3 − CH2 − CH = CH2

CH3 − CH = CH − CH3

CH3 − CH2 − CH2 − CH3

CH3 − C
∣

CH3

= CH2

204. Major product is :

A. 

B. 

C. 

Ph − CH = CH2 + HBrPeroxide →

Ph − C
∣
Br

H − CH3

Ph − CH2 − C
∣
Br

H2

Ph − C
∣
Br

H − C
∣
Br

H2

https://dl.doubtnut.com/l/_XvHAH1rhd7Hl
https://dl.doubtnut.com/l/_oK0Day9WaCaV


D. 

Answer:

Watch Video Solution

Ph − C ≡ CH

205. A compound  gives with ppt. with ammonical 

and on reduction followed by monochlorination it gives 4 structrual

monochloro products. What is the possible structure of compound ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(C5H8) AgNO3

CH3 − CH2 − CH2 − CH = CH2

CH3 − CH2 − C ≡ CH

(CH3)2CH − C ≡ CH

CH2 = CH − CH2 − CH = CH2

https://dl.doubtnut.com/l/_oK0Day9WaCaV
https://dl.doubtnut.com/l/_TBMhKb3uYDmz


206.  Major product is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 − CH2 − CH2 − CHCl2
NaNH2
−−−−→

Δ

CH3C ≡ C − CH3

CH3 − CH2 − C ≡ CH

CH2 = CH − CH = CH2

CH3 − CH2 − CH = CH2

207.  Major product is :

A. 

B. 

C. 

CH3 − C ≡ CH
HgSO4 ,H2SO4

−−−−−−−−→

CH3 − C
∣
OH

H − CH3

CH3 − CH2 − CHO

CH3 − C
∣ ∣
O

− CH3

https://dl.doubtnut.com/l/_hD5pL1eBeCay
https://dl.doubtnut.com/l/_6zRDcj83Dm2d


D. 

Answer:

Watch Video Solution

CH3 − CH2 − C
∣
OH

H2

208.  Major Product is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Ph − C ≡ Ch
B2H6

−−−−−−−→
H2O2 /OH −

Ph − C
∣
OH

H − CH3

Ph − CH2 − CHO

Ph − C
∣ ∣
O

− CH3

Ph − CH2 − C
∣
OH

H2

https://dl.doubtnut.com/l/_6zRDcj83Dm2d
https://dl.doubtnut.com/l/_1udX4ay2HZrG


209.  


What is B ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CaC2
H2O
−−→ AB

Hg + 2 /H2SO4

−−−−−−−−→

HC ≡ CH

CH3CH3

CH2 = CH2

CH3CHO

210.  Product, Product is :

A. 

B. 

CH3CH2C ≡ CCH2CH3 + H2O
HgSO4
−−−→

CH3CH2

O

∣ ∣

CCH2CH2CH3

CH3CH2CH2CH2CH2CH3

https://dl.doubtnut.com/l/_Xp71NKiBc0jI
https://dl.doubtnut.com/l/_JDkcHVLPGLvq


C. Both (A) & (B)

D. None of these

Answer:

Watch Video Solution

211. Treatment of phenol with bromine dissolved in  gives :

A. A mixture of o-bromophenol and p-bromophenol

B. A precipitate of tribromophenol

C. No new product

D. Mainly m-bromophenol

Answer:

Watch Video Solution

CCl4

https://dl.doubtnut.com/l/_JDkcHVLPGLvq
https://dl.doubtnut.com/l/_SJim9j3o8R3F
https://dl.doubtnut.com/l/_pD8fLPmNPwj0


212. Phenol +  Product is :

A. benzoic acid

B. p-chlorophenol

C. salicylaldehyde

D. salicylic acid

Answer:

Watch Video Solution

CHCl3 + KOH →

213. Following equation illustrates 

A. Dow' process

B. Kolbe's process

C. Carbylamine test

C6H5CI + 2NaOH
200 − 250 ∘C
−−−−−−→

200atm
C6H5ONa + NaCI + H2O

https://dl.doubtnut.com/l/_pD8fLPmNPwj0
https://dl.doubtnut.com/l/_dO2bO1FlTYh5


D. Haloform reaction

Answer:

Watch Video Solution

214. Activation of benzene by  group can be reduced by

treating the compound with

A. acetone

B. ethyl alcohol

C. acetic acid

D. acetyl chloride

Answer:

Watch Video Solution

−NH2

https://dl.doubtnut.com/l/_dO2bO1FlTYh5
https://dl.doubtnut.com/l/_8OCYhCJkB70M
https://dl.doubtnut.com/l/_Fkv28Jdfqe1p


215. Common name of phenol is :

A. Carbonic acid

B. Carbolic acid

C. Lactic acid

D. Picric acid

Answer:

Watch Video Solution

216.  


Product [X] is :

A. 

B. 

CH3 −

H

∣

C
∣

CH3

− OH + SOCl2 → [X] + SO2 + HCl

CH3 −

H

∣

C
∣

CH2

− O − Cl

CH3 −

H

∣

C
∣

CH3

− Cl

https://dl.doubtnut.com/l/_Fkv28Jdfqe1p
https://dl.doubtnut.com/l/_HA3VMK0RoKs2


C. 

D. 

Answer:

Watch Video Solution

CH3 − CH2 − CH2 − Cl

217.  


Product X is :

A. 

B. 

C. 

D. 

CH3 −

CH3
∣

C =

CH3
∣

C − CH3 + HBr → X

CH3 −

CH3
∣

C
∣
H

−

CH3
∣

C
∣
Br

− CH3

CH3 −

CH3
∣

C
∣
H

−

CH3
∣

C
∣
H

− CH3

CH3 −

CH3
∣

C
∣
Br

−

CH3
∣

C
∣
Br

− CH3

CH3 −

CH3
∣

C
∣
Br

−

CH3
∣

C
∣
Br

− CH3

https://dl.doubtnut.com/l/_HA3VMK0RoKs2
https://dl.doubtnut.com/l/_oGGXgD9hj5KK


Answer:

Watch Video Solution

218. 

 


Which of the following reagent is used for the above conversion ?

A. HCl

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 − CH = CH − CH3

Reagent[Y]
−−−−−−→ CH3 − C

∣
Cl

H − CH2 − CH3

Cl2 /hv

PCl3

PCl5

https://dl.doubtnut.com/l/_oGGXgD9hj5KK
https://dl.doubtnut.com/l/_rgukeuESpkX7


219.  

Product [X] is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 − CH2 − Cl + KOH(aq) → [X] + KCl

CH3 − CH3

CH3 − CH2 − OH

CH3 = CH2

CH3 − CH2 − CH2 − CH3

220. In the following reaction 

Product , Product is :

A. 

B. 

CH3 − ONa + CH3 − CH2 − Cl →

CH3 − O − CH3

CH2 = CH2

https://dl.doubtnut.com/l/_dBxBp5ip0dcL
https://dl.doubtnut.com/l/_qo9kbEaSczSX


C. 

D. 

Answer:

Watch Video Solution

CH3 − CH2 − O − CH3

CH3 − CH3

221. In the following reaction sequence : 

 


Final product is :

A. 

B. 

C. 

D. 

Answer:

CH3 −

CH3
∣

C H − OH
PCl3
−−→

CH3ONa
−−−−−→

CH3 − C
∣

CH3

H − O − C2H5

C2H5 − O − CH3

C2H5 − O − CH3

CH3 − C
∣

CH3

H − O − CH3

https://dl.doubtnut.com/l/_qo9kbEaSczSX
https://dl.doubtnut.com/l/_T6Bdc6WMVdEP


Watch Video Solution

222. Which of the following give ether as a major product -

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 − CH2 − OH
PCl5
−−→

CH3 − CH2 − OH
Conc .H2SO4
−−−−−−−→
100 − 140 ∘C

CH3 − CH2 − Cl
Aq . KOH
−−−−−→

CH2 = CH2

H2

−−−→

∅

H ⊕

223. Which test is used for  alcohol.

A. 2,4-DNP test

B. Fehling solution test

(1∘ , 2∘ , 3∘ )

https://dl.doubtnut.com/l/_T6Bdc6WMVdEP
https://dl.doubtnut.com/l/_QPtb9G7GdH2D
https://dl.doubtnut.com/l/_F1btHSfHU8yX


C. Bromine water test

D. Lucas test

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_F1btHSfHU8yX

